
















 
 
 
 
 
 
 
 
 
 
 

Пример оформления и список вопросов теста для одного из упражнений: 
 
Грамматика: DUE TO or BECAUSE  

 
 
Question 1. Matching Type  
Choose the correct answer for each sentence below.  
 
The project was canceled _____ the lack of investors.  
The project was canceled _____ there was a lack of investors.  
 
due to; because  
 
Question 2. Matching Type  
Choose the correct answer for each sentence below.  
 
Our transport company is struggling because _____.  
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Our trucking company is losing money due to _____.  
 
the high price of fuel; the price of fuel increased  
 
Question 3. Multiple Choice  
Choose the correct answers. Which TWO phrases correctly complete the sentence?  
 
We have high hopes for sales this year _____.  
 
because of an advertising firm;  
due to we hired an advertising firm;  
because we hired an advertising firm;  
due to the fact that we hired an advertising firm.  
 
Question 4. Matching Type  
Choose the correct answer for each sentence below.  
 
Tina: My laundry shop has so many customers now _____ the weather.  
Lydia: Is it _____ the rain hasn't stopped?  
 
because of; because  
 
Question 5. Multiple Choice  
Choose the correct answers. Which TWO phrases correctly complete the sentence?  
 
Most of our air pollution is _____ the burning of coal, oil or gasoline.  
due to; caused by; due to the fact that  
 
Question 6. Fill-in-the-Gap  
 
Type your answer in the box. The CEO rewarded the sales team _____ their product 
presentation was successful.  
 
Answer Key  
1. due to; because  
2. the price of fuel increased; the high price of fuel  
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3. because we hired an advertising firm; due to the fact that we hired an advertising 
firm  
4. because of; because  
5. due to; caused by  
6. because; due to the fact that 
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